o(d o) (rad)

[

o(d dxy) (cmil\

S
L

12 3

o(d dz) (cm)

1072

Ratio

0.9

0.8

.........................................

T_XIMnusPU_tetrain

'I'I'I'I'I'I'I'IT

Fi
It”XiMinusPU_NEWdefault_specPLess1
it”XiMinusPU_NEWdefault_specPLess2
It XiMinusPU_NEWdefault_specPLess3
it XiMinusPU_NEWdefault”_specPLess4

<
N

...........................................

0 1 2 3
TP ® (PCA to beamline)

o p_/p.)

1

.........................................

IELILL RN B

1

2 3

TP ® (PCA to beamline)



	Contents
	Page 1


